
Exercises	on	the	topics	of	class	2	
	

	
	
Exercises	with	solutions	
	
Ex.	1.	Turn	in	base	7	the	natural	number	332014.	
	
SOLUTION:	
	
First	of	all,	let’s	turn	332014	in	base	10:	
	 3x44	+	3x43	+	2x42	+	0x41	+	1x40	=	3x256	+	3x64	+	2x16	+	1	=	993	
We	then	turn	993	in	base	7:	
	 993	/	7	=	141	rem.	6	
	 141	/	7	=	20	rem.	1	
	 20	/	7	=	2	rem.	6	
	 2	/	7	=	0	rem.	2	
Hence,	the	required	number	is	26167.	
	
	
Ex.	 2.	 Turn	 the	 natural	 number	 3200124	 in	 the	 corresponding	 binary	 and	 hexadecimal	
number.	
	
SOLUTION:	
	
The	simplest	way	to	turn	a	number	from	base	4	into	the	corresponding	number	in	base	2	is	to	
translate	every	digit	in	base	4	in	a	2-bit	binary	number	and	to	concatenate	the	risults.	Hence,		
3	2	0	0	1	2			becomes				11	10	00	00	01	10	.	
	
Passing	 to	 base	 16	 is	 conceptually	 similar:	 we	 take	 pairs	 of	 digits	 in	 base	 4,	 from	 the	 less	
significant	to	the	most	significant	digit,	being	16	=	42.	In	doing	this,	you	have	to	remember	that	
you’re	working	in	base	4!!	Hence,		32	00	12		becomes		E	0	6;	indeed,	324	=	3x4	+	2	=	14	=	E16	
and	124	=	1x4	+	2	=	6	=	616	.	
	
	
Exercises	without	solutions	
	
Ex.	1.	Turn	277	from	base	10	to	base	2,	4,	8	and	16.	
	
Ex.	2.	Turn		AD04		from	base	16	to	base	2,	4	and	7.	


